
位相数学１　演習　問 8.4� �
問題

平面 R2上で、任意の 2点 x = (x1, x2)と x′ = (x′
1, x

′
2)に対し、

　 d∞(x,x′) = max{|x1 − x′
1|, |x2 − x′

2|}

が距離の 3条件を満たすことを示せ。
参考

(1)d(x, x′) ≥ 0(x, x′ ∈ R2),　また d(x, x′) = 0 ⇔ x = x′

(2)d(x, x′) = d(x′, x)(x, x′ ∈ R2)

(3)d(x, x′′) ≤ d(x, x′) + d(x′, x′′)(x, x′, x′′ ∈ R2)� �
(解答）
(1)

Proof. d∞(x,x′) = max{|x1 − x′
1|, |x2 − x′

2|}で
0 ≤ |x1 − x′

1|, 0 ≤ |x2 − x′
2|であるから、

0 ≤ max{|x1 − x′
1|, |x2 − x′

2|} = d∞(x,x′) ∴ d∞(x,x′) ≥ 0

また、d∞(x,x′) = 0のとき、max{|x1 − x′
1|, |x2 − x′

2|} = 0であるから、
0 ≤ |x1 − x′

1| ≤ max{|x1 − x′
1|, |x2 − x′

2|} = 0より、|x1 − x′
1| = 0　つまり、x1 = x′

1,

同様にして、x2 = x′
2 ∴ x = x′

逆に、x = x′とすると、x1 = x′
1, x2 = x′

2、つまり |x1 − x′
1| = 0, |x2 − x′

2| = 0であるから
max{|x1 − x′

1|, |x2 − x′
2|} = 0, ∴ d∞(x,x′) = max{|x1 − x′

1|, |x2 − x′
2|} = 0

(2)

Proof. |x1 − x′
1| = |x′

1 − x1|, |x2 − x′
2| = |x′

2 − x2|であるから
d∞(x,x′) = max{|x1 − x′

1|, |x2 − x′
2|} = max{|x′

1 − x1|, |x′
2 − x2|} = d∞(x′,x)

∴ d∞(x,x′) = d∞(x′,x)

(3)

Proof. d∞(x,x′′) = |x1 − x′′
1 |のとき、

d∞(x,x′′) = |x1 − x′′
1 | = |x1 − x′

1 + x′
1 − x′′

1 |
≤ |x1 − x′

1|+ |x′
1 − x′′

1 |
≤ max{|x1 − x′

1|, |x2 − x′
2|}+max{|x′

1 − x′′
1 |, |x′

2 − x′′
2 |}

= d∞(x,x′) + d∞(x′,x′′)

d∞(x,x′′) = |x2 − x′′
2 |のときも同様。

∴ d∞(x,x′′) ≤ d∞(x,x′) + d∞(x′,x′′)
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